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Check that this exam has 20 questions.

Important Instructions:

1.  All types of calculators, pagers or mobile phones are NOT allowed
during the examination.

2.  Use HB 2.5 pencils only.
3.  Use a good eraser. DO NOT use the erasers attached to the pencil.

4.  Write your name, ID number and Section number on the examination
paper and in the upper left corner of the answer sheet.

5.  When bubbling your ID number and Section number, be sure that the
bubbles match with the numbers that you write.

6.  The Test Code Number is already bubbled in your answer sheet. Make
sure that it is the same as that printed on your question paper.

7.  When bubbling, make sure that the bubbled space is fully covered.

8.  When erasing a bubble, make sure that you do not leave any trace of
penciling.
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/2. If the tangent line to the parabola y = 2z2+3z+2 at the
: point (a, 3) is perpendicular to the line z + 7y = 0, then

a_ﬁ= ‘ - . / ‘ v {6
Z/: ur+2 & CO()-:.HDL"‘B =
(a) —3/7 m—r: "é- ':‘P VhN = :7—
b) 3 | \ =D [/ -7
; san = ¥ EED P
(¢c) 9 5
—6
Lr/@
(e) -5




Math 101 (Sem 101) Exam II Page 2 of 10 é

. dy
A WAy aamg s ey —6y =
@ (z+y)(3y'—vx)ﬁ:“.‘i (21'53)3/ _ . ~H
) (@z-y)y—o)" | T et
© @+uEy -2 J - £y-%
(@) 2~ 3By~ =) BT -
@ 2s+y)y -2 RS

The equation of motion of a particle is S(t) = Vi+ —% + 19,
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Let F(z) = —————
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[Hint: You may use logarithmic differentiation]
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where t is measured in seconds and S in meters, then the
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If —4 is the z-intercept of the tangent line 7" to the curve
y = 1/, then the y-intercept of T is
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